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*oR 27 said to him; so now the Xws9 which states

OVERVIEW

*"'3 91X MR 17 made two opposite statements regarding the case of '2123"192 IR 'R
n"192 oMK, resulting in two different inferences regarding whether v3 W2w "2
have to say 11192 or not. *0X 27 responded to both statements (respectively) asking
what would be the position of the 1127 if the v was (or was not) O7°w >"'rnn XX,
Our nMvoIN explains what *oX 27 meant to ask.
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The question of >oX 21 wasn’t on the view of the 13127 (when are they 2019 or when
are they °won),> but rather his question was (according to each respective
inference) what would be the basis of the argument between 11271 °"9 (in each
respective inference), as N1501N previously explained. However the X713 did not

explicitly say this, because it was reluctant to elaborate and specify the question
since it was already mentioned in the previous X>210.

SUMMARY
>OX 27 (really) asked the same question as 2R, which is *9 X2,

THINKING IT OVER

mooIn compares the two questions of X"7 to the two questions of *°2X on 2,.
However regarding 2K there were two separate MIW9, so we can say (as NooIN
argues) that each W9 felt that the argument between 71271 °"1 is better understood
if we assume the opposite inference. However, here it is the same X"9, asking each
time that we should assume that the other inference is better; he cannot have it both
Ways!3

'R 7"7 2,70 97. Review that mooin for a better understanding of the “Thinking it over’ question.

? This cannot be the question, for if we assume each inference then obviously the 1321 will be wan or H0m
accordingly; what is the meaning of 7iny» X7X, which seems to indicate that if we assume this inference there will be
a difficulty.

? See X7 X"wAAn and P



